



GOVERNMENT OF PAKISTAN  
COLLECTORATE OF CUSTOMS (ENFORCEMENT), GADANI  
CUSTOM HOUSE GADANI



C. No. 01-Cus/Auc/Veh/Goods/SWH/Khuz/2023/1643

Dated: 18-04-2025

**PUBLIC NOTICE**

It is hereby notified for General Public that an open auction of confiscated vehicles and Goods (new and left over lots) will be held on 29.04.2025 at 11:00 am at Custom House Gadani under Chapter V of SRO 450(I)/2001 on "AS IS WHERE IS" basis.

Details of the Vehicles & Goods	Date of Auction	Location
General Goods (New & left over Lots)	29.04.2025	Custom House Gadani

**Terms & conditions:**

- I. Auction shall be held strictly in accordance with the provision of the Customs Act, 1969, and rules made there under. All the interested parties/ bidders shall abide by all the conditions ordained under the relevant provisions of the Act and the Rules.
- II. Auction will be held on "AS IS WHERE IS" basis.
- III. Successful bidder has to deposit 25% of the bid amount in shape of cash/pay order on the spot. Rest of the bid amount shall be deposited within 07 days of the display of the list of approved lots on the Notice Board of at Customs House, Gaddani.
- IV. Successful bidder has to deposit 10% of bid amount as Advance Income Tax separately.
- V. Collector of Customs reserves the rights to accept or reject any bid without assigning any reason.
- VI. If the auction is not completed within the stipulated period, the same may be continued on the next date till finalization of auction of all lots.
- VII. Any further information may be obtained from authorized auctioneer Pakistan Auction Mart, Office No. 9/4, RIMPA Twin Star (Opp: Kashif Centre), Shahra-e-Faisal.

  
(Ahmed Nawaz)  
Deputy Collector

**Copy to:**

1. The Collector, Collectorate of Customs (Enforcement), Gadani.
2. S.A to Chief Collector of Customs, Balochistan, Custom House, Quetta
3. Pakistan Auction Mart, 9/4, RIMPA Twin Star (Opp: Kashif Centre), Shahra-e-Faisal to publish an advertisement regarding auction in English & Urdu News Papers.
4. The Incharge, Auction is directed to make arrangement for auction.
5. Notice Board, Custom House Gadani.

  
(Ahmed Nawaz)  
Deputy Collector

**COLLECTORATE OF CUSTOMS (ENFORCEMENT), GADANI**

**GENERAL GOODS FRESH/LEFTOVER LOTS**

**AUCTION HELD ON 29-04-2025**

Sr No.	Case Nos.	Lot Nos.	Description of the Goods	Quantity
1	75-cus/Seiz/MS-KK/Khz/2023	66/2023	F/o. Blankets (Double ply)	47 Bundles, each bundle of 04 Pcs. Total: 188 Pcs
			F/o. Carpet Type velvet Cover	02 Bundle each bundle of 10 pcs. Total 20 Pcs
			F/o. Plastic Rolls	66 Kg
2	02-Cus/Seiz/MS-KK/Khz/2024	02/2024	F/o. Welding Electrodes 5.0(3/16'') 400mm Net Wt 5kg(11LBS)	185 Packets=925 Kgs
			F/o. Welding Electrodes 3.2(1/8'')x350mm Net Wt 5kg(11LBS)	190 Packets=950 Kgs
			F/o. Welding Electrodes 2.5(3/32'')x300mm Net Wt 5kg(5.5LBS)	200 Packets=500 Kgs
3	03-Cus/Seiz/MS-KK/Khz/2024	03/2024	F/o. Actour Crystal Pieces	34 Cartons=850 Kgs.
			F/o. Thermos (Vacuum Cup) various Brand (Made in China)	870 Pieces.
			F/o Josh Condemn	900 Boxes, each box of 28 pcs. Total 25,200 Packets.
			F/o. Electric incense Brunner (Made in China)	272 Pieces.
			Humidi fire F/o (Different Brand)	42 Pcs.
			F/o. Birthday Candles	5400 Candles.
			F/o. U Galaxy Plus Massager Chair	02 Nos.
F/o. Cloth Ladies & Gents	02 bundle=100 Kgs.			
4	12-Cus/Seiz/MS-KK/Khz/2024	11/2024	Crate for Glass Bottle in (Various Brand)	1800 Crate ( each crate 24 Glass Bottle) Total 43200 glass bottle
			Bottle Caps for Plastic,(Various Brand)	10 Carton each carton contain 12 Kgs Total weight 120 Kgs
			Bottle Caps for Metal (Various Brand)	03 Carton each carton contain 23 Kgs Total weight 69 Kgs
5	02-Cus/Seiz/Khuz/2024	Khuzdar	Bottle's cape	150 bags each contains 6 kg=900 Kgs
			F/o. Shahana jams Exp: 22-01-2026	80 cortons each contains 6 pcs,10% damages
			F/o. Merie biscuits Exp: 02-08-2025	95 cortons each contains 24 pcs,10% damages
			F/o. Lalie wafers Exp: 02-08-2025	22 cortons each contains 4 packs,10 %damages
			F/o. Candies(aitan) Exp: 01-2026	60 cortons each contains 4 bags,10% damages
F/o. Madilla Spaghetti pasta Exp: 08-07-2025	26 cortons each contains 20 pcs,10% damages			
6	63-Cus/Seiz/MS-KK/Khz/2024	60/2024	F/o. Ladies Cloth	520 Kgs
7	10-Cus/Seiz/Pjr/2022	10/Pjr/2022	Border Tiles 1.5x60cm total carton 131 (each carton 60 pcs 70.74 sqm) Iran origin	131 Cartons
			Border Tiles 02x60cm total carton 271 (each carton 36 pcs 117 sqm) Iran origin	271 Cartons
			Border Tiles 04x60cm total carton 259 (each carton 24 pcs 149.18 sqm) Iran origin	259 Cartons
			<b>Total: 661 Cartons (broken condition)</b>	

Sr No.	Case Nos.	Lot Nos.	Description of the Goods	Quantity
8	06-Cus/Seiz/Pjr/2023-24	06/Pjr/2023-24	F/o. Iron Bar Sarya (rusted)	26,000 Kgs
			F/o. Ceramic Tiles (30x60 cm)	490 Cartons
			F/o. Wire Mesh (rusted)	3,200 Kgs
9	07-Cus/Seiz/Pjr/2023-24	07/Pjr/2023-24	Sunflower Cooking Oil (Iran origin) 250 cartons (each carton contain 04 bottle of 5	250 Cartons=5,000 KGs
			F/o. Lubricant Oil (45 Can of 20 Liters each) Brand name Pana Motor Oil, Iran origin	45 Cans=900 Liters (leakage condition)
10	C. No. 04/Cus- Seiz/DCI/GAD/2024-25		F/o. LED Panel, assorted brands, made in China Size 21"	34 Nos.
			F/o. LED Panel, assorted brands, made in China Size 19"	52 Nos.
11	C. No. 05/Cus- Seiz/DCI/GAD/2024-25		Solar Inverter, Brand: AM&T, Model: CHF100A-011G/015P-4, Power: 11KW/15KW (Made in China).	22 Nos.
			Solar Inverter, Brand: INVT, Model: CHF100A-5RSP-4, Power: 4.0KW/5.5KW (Made in China).	50 Nos.
			Solar Inverter, Brand: INVT, Model: CHF100A-2R2G-4, Power: 2.2KW (Made in China).	18 Nos.
12	C. No. 07/Cus- Seiz/DCI/GAD/2024-25		F/o. Slightly used Tyres with Flap & Tubes, Brand Long March, Size 11.00R20 made in China	16 Nos.
			F/o. old & Used HTV Iron Rims	70 Nos.
13	09/Cus-/GAD/2024-25		F/o. old & used Window Airconditioner power1/10	30 Nos.
14	26/Cus-/GAD/2024-25		F/o Tyres (slightly used) of assorted brands, origins and sizes in bundles	40 Nos.
15	51/Cus-/GAD/2023-24		F/o. Parachute Cloth	750 Kgs
16	129-Cus/Seiz/MS- KK/Gdi/2024	98/2024	Tyres (Different Brands & Different Sizes)	130 Nos.
17	131-Cus/Seiz/MS- KK/Gdi/2024	100/2024	PRIN Tyres Size 8.25R16LT	06 Nos
			Long March Tyres Size 9.00R20	02 Nos
			RORTUNE Tyres Size 8.25R16LT	05 Nos
			CHENGSHAN Tyres Size 7.50R16LT	04 Nos
			WANSTAR Tyres Size 7.50R16LT	04 Nos
18	132-Cus/Seiz/MS- KK/Gdi/2024	101/2024	Tyres (Different Brands & Different Sizes)	80 Nos
19	134-Cus/Seiz/MS- KK/Gdi/2024	103/2024	Dried Pomegranate seeds (Anaar daana)	48 Bags Total: 2450 Kgs
20	135-Cus/Seiz/MS- KK/Gdi/2024	104/2024	Tyres (Different Brands & Different Sizes)	40 Nos.
21	138-Cus/Seiz/MS- KK/Gdi/2024	107/2024	Parachute Cloth	340 Kgs
			Tyres New Size 8.25 R 16	06 Nos
22	147-Cus/Seiz/MS- KK/Gdi/2024	116/2024	Parachute Cloth	207 Kgs
			Tyres Different Size & Different Brands	56 Nos

Sr No.	Case Nos.	Lot Nos.	Description of the Goods	Quantity
23	148-Cus/Seiz/MS-KK/Gdi/2024	117/2024	Parachute Cloth	120 Kgs
			Tyres With Rim Size 11.00 R 20	10 Nos.
			Tyres Different Size & Different Brands	20 Nos.
			Rim With Kara (HTV) Vehicle	10 Nos
24	154-Cus/Seiz/MS-KK/Gdi/2024	122/2024	F/o. Perachute Cloth	360 Kgs
			F/o. slightly used Tyres, for LTV assorted brand & size	22 Nos.
25	176-Cus/Seiz/MS-KK/Gdi/2025	15/KK/2025	F/o. Ladies Cloth unstiched	704 Kgs
			F/o. Ladies Cloth Fancy unstiched	255 Kgs
		16/KK/2025	F/o. Invertor	22 Nos.
			F/o. Crown Inverter	05 Nos.
			F/o. Vintage T9 Electric Shaving Machine	180 Nos.
			F/o. New Nova Hair Dry Machine	382 Nos.
			F/o. Tasan Gas vel different sizes	1,020 Nos.
			F/o. Electric Shaving Machine, Daling Multi Function Grooming Kit	130 Nos.
			F/o. Electric Hair Straightner Machine	79 Nos.
			F/o. Eyebrow trimmer ladies threading machine	273 Nos.
			F/o. China Lock, Guan MAO Different Sizes	2,592 Nos.
			F/o. Shaving Razore, Dorco TD708N	5,600 Nos.
			F/o. PRO Blade Super Platinm	42 Cartons each ctn 25 Packets each packet 400 Blades Total: 1,050 Packets=420,000 Blades
			F/o. Black Head Face Pin	5,400 Pins
F/o. Dove Soap	864 Bars			
26	202-Cus/Seiz/MS-KK/Gdi/2025	60/KK/2025	slightly Used Tyres of different F/o brands, assorted size in bundle form.	132 Nos.
			slightly Used Tyres of F/o, 8.25 R16LT Size of different brands.	04 Nos.
27	13-Cus/Seiz/TBT/2024		Setorg Gear Oil (Iranian Origin) SAE : 90 API:GL-1	10 Plastic Cans (each contain 20 Ltrs) Total = 200 Ltrs
28	14-Cus/Seiz/TBT/2024		Setorg Gear Oil (Iranian Origin) SAE : 90 API:GL-1	05 Plastic Cans (each contain 20 Ltrs) Total = 100 Ltrs
29	118-Cus/Seiz/MS-KK/Khz/2024	87/2024	Velvet Cloth F/o	300 Kg
30	119-Cus/Seiz/MS-KK/Khz/2024	88/2024	Spare parts (Excel) F/o	40 Nos.
			Turbo Bearings ISO/TS 16949 Certified Company	100 pcs.
			Tyres (Different Brands & Different Sizes)	44 Nos.
			MRF Tyres	4 Nos.
31	121-Cus/Seiz/MS-KK/Khz/2024	90/2024	Turbo Bearings ISO/TS 16949 Certified Company	250 pcs.
			Torque Rod Bushing (JX Brand)	120 pcs.
32	127-Cus/Seiz/MS-KK/Khz/2024	96/2024	Tyres of various size & Brands F/o	96 Nos. of Different Sizes

Sr No.	Case Nos.	Lot Nos.	Description of the Goods	Quantity
33	140-Cus/Seiz/MS-KK/Gdi/2024	109/2024	Tyres of different Sizes& Brands	36 Nos.
			Steel Camshaft	40 Nos.
			Turbo Bearing	40 Nos.
			U bolt (Auto parts)	160 Nos.
34	142-Cus/Seiz/MS-KK/Gdi/2024	111/2024	Tyres Different Size & Brand	132 Nos.
35	149-Cus/Seiz/MS-KK/Gdi/2024	118/2024	F/o. Mix Cloth (inferior quality)	290 Kgs
36	151-Cus/Seiz/MS-KK/Gdi/2024	119/2024	Rexroth Electronic Portable Packing Machine, Volt 12DC, brand unknow & origin not shown	419 Nos.
37	153-Cus/Seiz/MS-KK/Gdi/2024	121/2024	F/o. slightly used Tyres for LTV (assorted brand & size)	72 Nos.
			F/o. Glassware, made in Iran	30 Cartons=85 Kgs
			F/o. old & used Portable Heater	10 Nos.
			F/o. Oveltime (Energy) Mfg: 17-11-23 Exp: 17-05-2025	04 Ctns=120 Pouches each pouch 260 grm=30 Kgs Approx
38	160-Cus/Seiz/MS-KK/Gdi/2024	128/2024	F/o. Curtain/Sofa Cloth (Assorted Colours)	3,050 Kgs
39	164-Cus/Seiz/MS-KK/Gdi/2024	138/2024	F/o Parachute Cloth.	33 Kgs
		139/2024	F/o Tyres (in bundles): Brand: Yokohama : Size: 215/60R16 : (02-bundles = 08-Tyres) Brand: Wynstar : Size: 6.50R16 LT : (06-bundles = 24-Tyres) Brand: Vanti Touring : Size: 215/60R16 : (02-bundles = 08-Tyres)	40 Nos.
40	174-Cus/Seiz/MS-KK/Gdi/2025		F/o Mix (suiting, parda, parachute) cloth, 14-Rolls of different weight.	753-Kgs
41	177-Cus/Seiz/MS-KK/Gdi/2025	18/KK/2025	F/o. Mix Cloth unstiched	5,099 KGs
42	184-Cus/Seiz/MS-KK/Gdi/2025	29/KK/2025	F/o Parda Cloth in Rolls (144-Rolls of different weight)	3,578-Kgs
			F/o Velvet Cloth in Rolls (84-Rolls each contain 08-Kgs)	672-Kgs
43	185-Cus/Seiz/MS-KK/Gdi/2025	31/KK/2025	F/o Sewing Machine, 05-Pcs each contain 23 Kgs.	05-Pcs (115-Kgs)
			Acer Auto Teile (Spare Parts) Axle Suspension System 1) 17-Cartons each contain 15-boxes and each box contain 02-pcs (255-box = 510-pcs) 2) 02-Cartons loose each contain 10-boxes and each box contain 02-pcs (20-boxes = 40-pcs)	275-Boxes (550-pcs)
44	189-Cus/Seiz/MS-KK/Gdi/2025	38/KK/2025	Parachute Cloth	215 Kgs
		40/KK/2025	Tyres Different Size & Different Brands	130 Nos.
			Onyx Tyres Size 12.00R20	02 Nos.
			Chengshan Tyres Size 7.50-16	02 Nos.
		Rim	04 Nos.	
45	01-Cus/Seiz/JCP-Wangu/2024	01/Wangu/2024	Urea (Pak/Origin)	150 bags (Each bag of 50 kgs) Total weight: 7500 kgs